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(Zn)m=1g V = 40 mL

(H
+

aq+Cl
-
aq)C = 0.5mol/L 

(Ox/Red) 

 (Zn
2+

aq/Zns) و (H
+

aq/H2g) . 

  Ox...........................................

 Red..............................................

 .......................................

 ..........................................

 (Zn) ؟..................................

 (H
+
.................... ؟(

 ................................:...... ...................................

 .........................................:...... ............................

 .................................:..... ...............................

 

 .....................................................................................................................................

  

....................................................................... ................................................................

  

      Zn (s)     +                   =                +  H2 (g) 

    0 

    x 

    xmax 

  xmax

…………………………………………………………………………………………. 

………………………………………………………………………………………… 

…………………………………………………………………………………………. 

 .......................................................................... 

  M(Zn)=65,4g/mol: يعطى الكتلة المولية الذرية للزنك

بالتوفيق 
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